CLASS : 12th (Sr. Secondary) Code No. 1214
Series : SS/Annual Exam.-2024

Roll No. SET : B
ﬂfilf’l MAP
GEOGRAPHY
[ el o oIt A1 |
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 3§72 ] [ g% : 60
Time allowed : 3 hours | [ Maximum Marks : 60

o FUI AT F T [ 57 F9T-U7 4 FRa g 15 T F97 26 &)
Please make sure that the printed pages in this question paper are 15 in number
and it contains 26 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY Tl § H OH FI-Yikaw F FEI-g8 9
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH FV [iET J@ VT G Yee, 9T H B T [
Before beginning to answer a question, its Serial Number must be written.
o FuT-YikTH & &F @] g-i,/9+ T 8I8)

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE % SIRFT FF o 9 Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TETER U AT To JeT-UH YT Haed [@ T To & SIRFT FIT-YH YU o FE A T
frd sit dmfoqs 797 & Gkl q¥ el Jre @7 (9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FuT 37 @ {4 & GhlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G [739T -
() @ g7 Iarf &

(i) TOF 97 F 3% IqD GHT 0T T &

(iii) F97 & IV F7% HBFEN 3

(iv) F97 G&IT 26 GRT & FATT F 97 @ TI0T &1

(v) 9RT % T B TE ST FA-YRTE % dT Forga @ e

(vi) T G Y FAC-GIkTHl # B AT g
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General Instructions :
() All questions are compulsory.
(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

qT - &
PART - A
e 39 9 & g 9 1-1 3% B gl

All questions of this part are 1 mark each.

1. ¥6R % SIHie 7eM qad = & fh| avt | aFfiga g @ B ? 1
(A) AT G
(B) TRgd o
(C) o e
(D) e T
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Most of the World's great Collapses have been classified into which of the
following categories ?
(A) Naval Collapse

(B) Extensive Collapse
(C) Oil Collapse

(D) Industrial Collapse

2. 9§ 2011 & SO & FIER &= § § 6w To9 7 T SEe U i & ¢ 1
(A) dfeTg (B) HERTS

9

(C) & (D) M

According to the 2011 census, which of the following States has the highest

urban population ratio ?
(A) Tamil Nadu

(B) Maharashtra

(C) Kerala

(D) Goa
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3. F=1 & @ #F-ar [ &= 7 =i & J&7 TR 8 ? 1

(A)  STEICTRT STUREA

(B) &1 9T

(C) arg e

(D) YH W e 1 THE

Which of the following is the main type of Land degradation in irrigated areas ?
(A) Channel erosion

(B) Soil salinity

(C) Wind erosion

(D) Accumulation of silt on the land

4. Fefated & @ g 199 § 99 9 SWT (%) 360 F9 9M 99 999 9 96T 8 7 1

(A) dEETE

9

(B) ST UasT

(C) Fiew

(D) &
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In which of the following States the groundwater utilization (%) is more than its
total groundwater potential ?

(A) Tamil Nadu
(B) Andhra Pradesh

(C) Karnataka

(D) Kerala
5. Frfafad § @ $H-91 0% AMa [ B SUFH 78 o 1
A) &=

(B) HETHS =

(C) ¥H% e

(D) 3TN &R Ui

Which one of the following is not an approach of Human Geography ?
(A) Regional Variation

(B) Quantitative Revolution

(C) Spatial Organization

(D) Exploration and Description
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6. FREd PN & FHRI 7 & BHH-A1 THR FIT-61 P B TR © 7 1

(A) fegd ot frate B

(B) TG Ao ST FY

(C) s fafes PN

(D) faf

Which of the following types of agriculture is slash-burn agriculture ?

(A) Extensive subsistence agriculture

(B) Extensive commerce grain agriculture

(C) Primitive subsistence agriculture

(D) Mixed farming

7. Frfoied § @ SF-81 T Hott Bl & FHIG I A 5 7 1
A) HHe IEm
(B) T T
(C) Tl &% JEN
(D) T IE
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Which of the following industries is set-up near the energy source ?
(A) Cement industry

(B) Aluminium industry

(C) Cotton textile industry

(D) Sugar industry

8. 3R Tl e -8 91y A Feparal § ? 1

Indira Gandhi Canal originates from which dam ?

9. FHIAHAT T HH-Hl & I STaRed ® ? 1

On which river is Kolkata Port located ?

10. 9T % 59 g1 dfEe 3RS U9 HIH-a1 8 7 1

Which is the largest Bauxite producing State of India ?
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qa - g
PART -B
e ;39 9 & G YT 2-2 3fF B 21 UIH U H SA¥ 20 § 30 Ikl F qitvd o

All questions of this part are of 2 marks each. Answer to each question in 20 to

30 words.

11. T IRt ) B &7 FAIvad sarE 2

Mention any two characteristics of urban settlements.

3TeE
OR

SR g a1 F A e g 7 R T B

Explain the difference between barren land and cultivable waste land.

12. SHEE [qqRoT & e B aid #T G Bl B Ieid BT 2

Mention three geographical factors affecting population distribution.

13. HFE TN bl GRHANC HioT 2

Define Human Geography.

14. ol % STURURS g HH-9 & 7 2

What are the non-conventional sources of energy ?
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OR
AR B FB T A ST T Bl ST &7 FEHINar aX et Ff 8 ?

Why is the labour participation rate higher in some states of India than in
others ?

15. J= D ST 71 8 7 2

What is high technology industry ?

16. S UREeT & 1 A & ¢ 2

What are the benefits of water transport ?

A - 7
PART - C

dle : 29 97 3 9t U a7 ol B &1 U U H IAX 50 § 70 = F (% B

All questions in this part are of three marks each. Answer to each question in 50

to 70 words.

17. G & o e ¥ 9% uRaey & Hew @l fad=mn s 3

Discuss the importance of road transport in the economic development of India.
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OR

&I 1 B ? Hed ol Yol Ifadl ¥ SR W &g

What is Settlements ? Explain the difference between compact and dispersed

settlements.

18. =Y AR doW Framead # SRR FdEdl 3

Explain the difference between the fourth and fifth activities.

3TeE
OR

R e ToX FAH A F A Gl fEE B FerEr 3 & #fF SUE gHEy

Suggest three measures to promote sustainable development in the Indira
Gandhi Canal Command Area.

19. Wd P JHHHT M & 7 3

What is Human Naturalization ?
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20. A9 B STEURET & Sd gHdr SlX dad Q9onedr | 1 9Hed § ¢ 3

What is meant by equality and sustainable development under the concept of

human development ?

21. IEEE IYERY AR AP IR § F<R T Hio 3

Explain the difference between nomadic animal husbandry and commercial

animal husbandry.

22, ARG ¥ o GEEA & doil d B ST W 81 39 SUEHl B Bl [GaaT B 3

Water resources are decreasing rapidly in India. Explain its responsible

factors.

T -9
PART-D

AT : 3@ 9 B Gl U GEgT Ik B 2 TP 9N F SO 150 9 170 9= ¥ g 2|

All questions in this part are of five marks each. Answer to each question in

150 to 170 words.

23. TEA H PN B ARNCH FWMS, IQEA AR AT H o HIo) 5

Describe the geographical conditions, production and distribution of rice

cultivation.
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qRd & UEiferad & S ol faaRer &1 auie i

Describe the production and distribution of petroleum in India.

24. ST U H 8 ? TSI NN & SR B U BHitoTg) 5

What is International Trade ? Describe the bases of international trade.

YqT
OR

a1 TGO % HROT G TNMEl H AU i

Describe the causes and effects of Air pollution.

25. AR § SEEEd gie B qgiidl @ e i) 5

Discuss the trends of population growth in India.
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AYAT
OR

SiTRebra HeBHOT &1 & 7 SThhid BT I i el d e it

What is demographic transition ? Discuss the three stages of demographic

transition.
qAT -
PART -E

dle : qe A S A | € 51 39 A & F 3% 5 8

This part is related to map work. Total marks of this part are 5.

26. YT D HARE W ke # E9rise ¢ 5

Show the following on the map of India :
(i) HISA SEETE

Kandla Port
(ii) T

Khetri
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(ili) TIRIST e &

Raniganj Coal Field
(iv) WRA & H®l IEh T

Coffee producing State of India

(v) WEie e 99 a9

Highest population density State.
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